
Math 10350 – Example Set 12C

1. Find the dimensions of a closed cylindrical can with maximum volume if the surface area is 200⇡ cm2.

At least set up the following optimization problems. Be sure to give the domain for the opti-
mization problem.

2. A 100 meter long wire is to be bent into a shape consisting of a semi-circular side and two equal straight
sides. Find the dimensions of the shape if the area enclosed is to be maximized. Your answer should give the
radius of the semi-circular side and the length of the two equal straight sides.

3. Consider a shape consisting of a semi-circular side and two equal straight sides which encloses an area of
100 sq. meters. Find the dimensions of the shape if its perimeter is to be shortest. Your answer should give
the radius of the semi-circular side and the length of the two equal straight sides.
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You are expected to set up but not solve these problems

Question 2 "3 address the same shape.
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